| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

9~ QL=

£ £

e &
2y N

X ISES]

Jo X I\
1k W

|OC M ©

— N o =
=1 e —

EY [To) >

H
8
o = o
g
B E
= o

o E —

S & |
! <
e} o

T 3
I<) 3 )

48 g

g

1l H o
o g 5P
S 5 S

z

0 _ o
Iy QL=

£ £

dge s

> N

R [T QLo
-3 %

o 8 ©
= 8 o =

= —

bt [Te}

1 MO

I Yo}

! o

o —

43 ]
LD

49 o
| N
m I

. N !
N N LD o
o SN 5P
E 3 2 3
syoel) oxey M

n o
5 °E

Jgs s

> o N
...... I O
< ]
.- Jo 2 M ©
R R Y [ A R AR A s eorrarers o =
= |8 T
-{o g S
2 .
2 =
-{o g = -- -0
- J0 B
] "u"m

o —— ——

15 H H H . !
10 g : : :

3 = H N N o
| 3 [T e <
< s . : ! !

\ 5 . . .
s |2 i i i I =
MITER A AT m L
N g = = =~ R £
3 K] S S S = 3 3
syoen z| syoen dhn oney
o
(s2]

track dxy (cm)

20
track dz (cm)

0

0

-20 -10

0

syoen

05 =50-15-10 -5 0 5 10 15 20 25

N of reco track vs dz

< )
o

syoen

N
o
—

1
.95,
3



	Contents
	Page 1


